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Table 1: Losses from Logrolling (Vote-trading)
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Suppose we have two projects. One which benefits people living in Hokkaido, but no one else (Issue
1: “Wakkanai Road””) and one which benefits people in Niigata (Issue 2: “Sado Tunnel”).
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Also, assume we have only three voting members of parliament, Mr. A from Hokkaido, Mr. B from

Niigata, and Ms. C from Tokyo.
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Table 1 above shows the possible outcomes and net benefits or losses to all members and their
respective constituencies.
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With majority rule voting, and only three representatives, 2 or more people must vote for the

Issue/project for it to get funding.
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Issue 1: only benefits Mr. A, so rationally, Mr. B and Ms. C should not vote for it. It would be a waste
of taxpayers’ money and their money.
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Issue 2: same. Only Mr. B (Niigata) would want to vote for it.
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So, neither the road nor the tunnel should be built.
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But, with logrolling, or vote-trading, Mr. A and Mr. B might reach a deal. If A (Hokkaido) promises to
vote for Issue 2 (Sado tunnel), and B promises to vote for Issue 1 (Wakkanai tunnel), then both would
have a net gain. (+5, +5)
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However, Ms. C and the people in Tokyo lose (-30), and have to pay for wasteful projects in Niigata
and Hokkaido. And, overall Japan loses because +5+5-30 equals -20 net.
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This is a potential problem with democracy and economic efficiency.

T, RETEEEFDRICBT 2 BEN 2METT,



